HEGH A O (AT T B ERESR) SFI5ES H 1 H B
A EE]

T 4 o B B K 5 7
Yy ey 1,535 3,417 1,572 1,845
[E Sl 866 1,888 879 1,009
Wit — T H 289 620 278 342
Wit T H 826 1,717 777 940
Wit —TH 325 748 358 390
HYocU T B 793 1,787 818 969
155 /K HT 970 2,081 967 1,114
i [ 2 PHHET 81 135 60 75
BIIE 408 808 376 432
A=) 542 1,110 481 629
Firifng BT 529 1,244 552 692
I H T 465 982 435 547
GIET 864 1,302 545 757
) 10 14 6 8
T 552 1,096 479 617
a2 T 478 885 393 492
iy 7K T 503 914 442 472
= HHET 859 1,649 689 960
K] 526 981 438 543
EACHT 737 1,184 514 670
N 1T 1,184 1,907 801 1,106
AP THT 6 6 6 0
Sy JEHT 828 1,348 576 772
4 (LT 201 287 116 171
[~ Ey 440 637 273 364
L2l 1,733 2,728 1,200 1,528
WA HT 482 740 335 405
ERREL 1,524 2,306 979 1,327
HHHT 68 83 33 50
LB T 22 39 18 21
e 1,230 2,117 911 1,206
Sk L ET 802 1,464 689 775
wil—TH 814 1,793 847 946
Wil —TH 545 1,210 540 670
SR 280 567 245 322
EERT 287 406 189 217
RAN) 772 1,431 627 804
R ERHT 281 327 127 200
E AT 74 92 41 51
T 208 255 107 148
ST 319 420 168 252
e AT 636 1,033 510 523
FA T 1,420 1,975 817 1,158
P AR SF T 1,716 2,504 1,120 1,384
FH 22T 1,592 2,484 1,201 1,283
SRy HT 184 289 156 133
= ) 2,510 3,571 1,643 1,928
i AsLa) 992 1,283 580 703
(.2 BT 367 491 235 256
T HHET 92 149 74 75
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HEGH A O (AT T B ERESR) SFI5ES H 1 H B
T 4 o | B K 5 7
NG E=R] 1,602 2,442 1,094 1,348
e 1,125 1,714 819 895
FL R T 219 382 184 198
HAEH—TH 856 1,683 765 918
EAH T H 1,491 2,927 1,326 1,601
ESCE) 530 1,332 643 689
TR — T H 1,186 2,602 1,193 1,409
FHEH# " TH 922 2,121 977 1,144
EHM#=TH 1,016 1,976 865 1,111
i HERT 419 886 406 480
Kifs— T H 569 1,671 807 864
KE_TH 885 1,835 847 988
Kii— 1 B 537 1,145 547 598
BHF— T H 830 1,864 817 1,047
BF — T H 716 1,665 767 898
AN =T H 592 1,327 602 725
BFPY T H 840 1,648 740 908
AN T H 514 1,145 536 609
J LT 27 78 34 44
JRE—TH 382 764 351 413
FRE_TH 228 512 236 276
JFE=TH 270 640 287 353
JREIT H 470 1,000 442 558
FEHTH 286 794 388 406
JFRE/NTH 274 575 274 301
FEETH 440 897 404 493
Hph— T H 664 1,185 517 668
AT A 875 1,905 871 1,034
Wva—T1H 500 953 440 513
W — T H 801 1,886 887 999
W =1 H 341 721 331 390
JEM— 1 H 238 439 190 242
JEM T H 311 511 231 280
AT 8 25 11 14
wWiE— T H 566 1,462 676 786
R T T H 439 906 432 474
PEH—T H 735 1,359 596 763
PEH T H 1,612 2,377 1,038 1,339
PEH=TH 1,027 1,821 825 996
®—TH 1,720 2,686 1,131 1,555
R _TH 1,346 2,110 914 1,196
R=TH 1,110 2,168 1,039 1,129
R LT 1,824 2,802 1,250 1,552
) 1,964 3,370 1,512 1,858
IAEL 2,436 3,769 1,687 2,082
b T 4,250 7,232 3,333 3,899
seH—TH 2,915 4,389 1,951 2,438
StH_TH 3,135 4,287 2,168 2,119
HWER—T H 31 188 52 136
HREE T B 923 2,138 1,002 1,136
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HEGH A O (AT T B ERESR) SFI5ES H 1 H B
T 4 o | B K 5 S
TreH—T H 1,822 2,737 1,241 1,496
Tyl T H 1,581 2,606 1,131 1,475
TRHA=TH 1,708 2,815 1,330 1,485
TN T H 2,317 3,440 1,646 1,794
PRI 1,182 2,126 1,030 1,096
R 2,538 5,341 2,407 2,934
e — T H 3,547 4,931 2,332 2,599
WEuh T H 1,582 2,288 1,026 1,262
fE—T H 1,541 2,604 1,356 1,248
B T H 317 480 273 207
=T H 907 1,935 1,033 902
EEENE 1,166 1,758 872 886
RRoCHT 943 1,457 743 714
ioc— T H 2,387 3,401 1,710 1,691
ot T H 1,014 1,573 749 824
Boc—TH 520 829 367 462
P Al e 885 1,339 612 727
JRARCH] 1,004 2,386 1,099 1,287
=V 1,314 2,163 981 1,182
I=VI¥N) 1,491 3,174 1,420 1,754
— FnHT 936 1,571 713 858
P T T 570 1,428 669 759
H 2 HHT 852 1,809 866 943
SR—TH 1,541 2,868 1,281 1,587
BIH T H 1,231 2,506 1,090 1,416
LE=TH 1,878 4,116 1,926 2,190
SEMNTH 1,192 2,577 1,167 1,410
BIE T H 1,515 3,163 1,430 1,733
BIERTH 1,562 3,021 1,479 1,542
LEETH 1,171 2,466 1,174 1,292
EESRG) 463 1,057 503 554
MrEETH 277 580 276 304
o E)NTH 805 1,701 750 951
FE— T H 1,731 3,161 1,491 1,670
TrE_ T H 846 1,514 734 780
Fi5— 1 B 1,345 2,270 1,080 1,190
FrE T H 647 1,293 613 680
Tl T B 854 1,514 750 764
Fi55 T B 740 1,722 794 928
Tt T B 578 1,425 653 772
15 )\ T B 329 795 389 406
i T B 602 1,534 749 785
R T 0 0 0 0
el 989 1,881 945 936
mks—1 H 303 771 374 397
Mg — T H 344 868 430 438
JnAR—T B 275 660 302 358
ISR TH 863 2,207 1,083 1,124
IEAR=TH 364 938 451 487
H - HT 322 883 414 469
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HEGH A O (AT T B ERESR) SFI5ES H 1 H B
T 4 o B B K 5 7
HE—TH 480 872 402 470
HEZTH 646 1,239 566 673
HE=TH 440 934 450 484
M DT H 206 640 288 352
HELTH 1,262 2,749 1,322 1,427
HESNTH 883 1,671 776 895
HEETH 679 1,258 583 675
HENTH 420 812 394 418
HEA—TH 662 1,459 664 795
HES"TH 687 1,379 653 726
HEA=TH 847 1,853 877 976
HEAMHT H 676 1,410 651 759
Va5 T 443 1,233 640 593
®i—TH 1,168 2,573 1,153 1,420
®li —TH 793 1,562 709 853
®=TH 522 1,153 549 604
AU T H 641 1,467 656 811
M F T H 1,338 2,929 1,292 1,637
RS TH 130 326 145 181
pafE— 1 B 595 1,414 638 776
PEE T B 856 1,959 878 1,081
E =N 764 1,840 856 984
[ENE 622 1,346 637 709
FElET ] B 393 879 399 480
e ST B 532 1,254 538 716
et T B 552 1,225 571 654
EINE 654 1,442 686 756
7 IR ET 407 901 446 455
Er%—TH 929 2,040 946 1,094
% TH 1,191 2,661 1,232 1,429
Er%=—TH 709 1,679 759 920
E%2 T H 786 1,687 802 885
Y SN 443 989 489 500
BN TH 620 2,050 958 1,092
BiEsr5—TH 336 836 384 452
BEFA TH 800 1,900 886 1,014
BFHE=TH 1,108 2,803 1,353 1,450
BEFAINUT H 1,097 2,506 1,188 1,318
BFARHTH 779 1,879 859 1,020
(L] FH T 2,088 5,889 2,729 3,160
LT 3,245 8,670 4,215 4,455
Hil—TH 538 1,175 523 652
i T H 1,182 2,830 1,319 1,511
HlZ7E—TH 510 1,212 578 634
HEZE_TH 516 1,171 566 605
BoriE—T B 565 1,398 681 717
A E—TH 698 1,592 762 830
A E=TH 557 1,248 568 680
B BT B 1,119 2,401 1,050 1,351
AT B 892 1,849 896 953
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HEGH A O (AT T B ERESR) SFI5ES H 1 H B
EH

T 4 o B B K 5 7
B BENT B 850 1,741 824 917
/N T 936 2,371 1,142 1,229
£ AT 1,118 2,758 1,334 1,424
HWAIL—TH 1,957 3,488 1,660 1,828
WAL T H 1,354 2,225 1,017 1,208
WA ="TH 804 1,497 702 795
AL T H 655 1,262 594 668
BRI T H 972 1,953 918 1,035
HAINTH 791 1,849 877 972
walltTH 380 881 399 482
ERiLl—TH 175 487 206 281
vEsil T H 277 695 319 376
A =T H 649 1,672 797 875
ALY T B 437 1,056 495 561
HMm— 1 H 697 1,605 756 849
B _TH 513 1,192 558 634
WA =T H 1,268 3,435 1,626 1,809
G T B 622 1,545 734 811
Ag eHT 2,675 6,619 3,102 3,517
2 BT 290 607 292 315
Aldde—TH 1,121 2,177 947 1,230
AT H 2,226 4,565 2,115 2,450
A ="TH 715 1,434 668 766
APy T g 824 1,687 793 894
AP T H 760 1,567 731 836
AP ER T H 1,070 2,372 1,128 1,244
AT H 962 2,304 1,038 1,266
wiip R )UT B 392 957 424 533
g THT 2,734 6,929 3,289 3,640
AR ST 573 1,378 651 727
/AR —T B 2,085 3,508 1,688 1,820
AR T B 1,656 3,091 1,820 1,271
FHEH—TH 1,049 2,197 1,025 1,172
FfHEH_TH 866 2,058 982 1,076
FE=TH 1,036 2,028 1,006 1,022
)1 HT 1,652 4,274 2,004 2,270
SRBRHAT 47 141 56 85
AT 1 2 0 2
F— 1 B 0 0 0 0
M T H 0 0 0 0
e — 1 B 1 1 1 0
RESERNE 0 0 0 0
el 323 467 265 202
FEoE AN T B 15 18 13 5
tvE—TH 5 8 3 5
Ve " TH 8 8 8 0
ALPE—T H 1 1 1 0
RILBEE_TH 0 0 0 0
K =TH 0 0 0 0
it — T H 912 2,111 949 1,162
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HEGH A O (AT T B ERESR) SFI5ES H 1 H B
W T 4% ik A B | ke %k 5 S
ST E T H 289 669 321 348
AN == 437 999 493 506
Yo F—TH 1,173 2,739 1,346 1,393
o FE"TH 827 1,843 891 952
W2 E=TH 806 1,762 875 887
Y.z EPUT H 1,213 2,278 1,092 1,186
Y. EH T H 498 1,049 500 549
Y. EASTH 1,269 2,449 1,219 1,230
Yo FETH 1,744 3,633 1,803 1,830
Y.z FINT H 725 1,478 696 782
Fil—TH 746 1,607 773 834
i —TH 837 2,030 1,018 1,012
T 157 341 150 191
Fig— T H 759 1,504 694 810
Fg T H 368 720 317 403
=T H 439 1,038 482 556
JHE U T H 134 278 139 139
T H 650 1,404 656 748
ST H 336 669 299 370
it T H 422 925 417 508
EJ\T H 202 437 215 299
FEe—TH 556 1,390 629 761
HEE_TH 350 776 352 424
s =TH 468 1,205 574 631
rEEMN T H 864 2,079 911 1,168
A5+ T H 382 909 408 501
AT H 413 930 434 496
AL T H 326 960 440 520
FEGHE— T H 353 778 363 415
w1 H 393 812 353 459
O =T H 719 1,532 644 888
PEHE U T B 611 1,409 624 785
PE{F S T B 325 706 331 375
PSS T B 447 1,021 454 567
P LT B 538 1,140 519 621
THE—TH 542 1,160 522 638
TAE_TH 550 1,411 600 811
EEe 7 E—T R 560 1,198 579 619
L8 BT H 892 1,964 903 1,061
T 39 76 38 38
T — T H 1,254 2,640 1,125 1,515
T T H 807 1,825 761 1,064
T =T H 1,264 2,772 1,286 1,486
/INEFHT 51 174 59 115
B —TH 405 859 394 465
JNEF T H 734 1,683 797 886
NEF=TH 511 1,222 565 657
BT H 508 1,225 601 624
L) 735 2,441 1,114 1,327
ANITEEL) 914 1,899 896 1,003
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HEGH A O (AT T B ERESR) SFI5ES H 1 H B
A EE]

T 4 o | B K 5 7
teEE 380 1,149 547 602
lif] 2 J W] 571 1,352 713 639
ok FHT 969 2,020 891 1,129
JI| _EHT 1,605 3,665 1,738 1,927
T~ HET 875 2,347 1,149 1,198
ol 12,506 31,142 14,506 16,636
HHr—T H 490 1,145 531 614
HH T H 651 1,543 725 818
HE=TH 766 1,740 828 912
HEUT H 946 2,281 1,059 1,222
KIHE—TH 289 734 354 380
RKIAE"TH 367 752 332 420
KBE=TH 696 1,421 600 821
[EN Al 406 818 369 449
AT 340 675 305 370
AT 204 449 228 221
AT 1,401 3,555 1,640 1,915
=L 742 1,510 705 805
AL —T H 440 978 454 524
4L T B 280 640 294 346
AL =T B 397 854 421 433
F2L B R 7K T 123 230 114 116
R B R AR TR T 167 380 173 207
AN 158 339 162 177
AETEREL) 86 146 57 89
A=) 184 305 142 163
R T 213 414 194 220
R B P T 150 301 149 152
BLE (RET 47 89 41 48
AL 62 109 51 58
RL SRR LT 103 243 99 144
BT 1 2 1 1
By AT 42 103 45 58
FfACHT 40 88 37 51
SRR T 161 296 149 147
B 39 61 37 24
A kT HT 5 7 4 3
ST 51 74 42 32
/5 S HT 66 118 68 50
=N 1,000 2,150 996 1,154
= A\ 4 0T 812 1,768 837 931
EYNCH) 373 726 353 373
= I JElT 424 1,088 461 627
=N 1,864 4,364 2,067 2,297
= A— a0 171 345 154 191
AT 1,862 5,084 2,468 2,616
N 142 295 144 151
IS ANEL) 1,012 2,455 1,181 1,274
EN) 344 725 369 356
gLy 2,156 5,837 2,846 2,991

7/8




HEGH A O (AT T B ERESR) SFI5ES H 1 H B
T 4 o B B K 5 7
i (LT 296 762 366 396
ARG = BT 602 1,847 825 1,022
Py SCHT 147 316 141 175
- H T 22 33 13 20
AL RN 334 659 333 326
A = T 60 127 62 65
LD 158 395 169 226
AR LT 1,181 2,915 1,399 1,516
AR L T 140 278 144 134
[ERERE 216 462 211 251
FRARHT 531 1,143 513 630
T AHT 268 618 291 327
aat 284,874 | 587,473 | 273,680 | 313,793
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